WRINKLE IN TIME CHAPTER 8
DUE THURSDAY, APRIL 30

PART ONE: PREPARE YOUR OWN HIGH ORDER THINKING QUESTION AND RESPONSE TO IT.
PART TWO: CHOOSE NEW VOCABULARY WORDS, IDENTIFY CORRECT PART OF SPEECH AND DEFINE.
1. Describe how different Charles Wallace is under the influence of IT. 
2. Analyze how Meg learns that being different is better than being regimented and controlled.
3. If Charles Wallace were in his right mind, how would he react to seeing himself in that condition?
4. How and why is Meg able to resist joining Charles?
5. What is the method used to make the people of Camazotz conform?
6. What is individuality? How is this chapter also about one can only be happy through individuality?
7. Why does Calvin start talking about being trapped in a tree when they see Mr. Murry? What does Mr. Murry’s isolation and inability to see his children have to do with mind control?
